
 

 

 

別添資料11 鈴鹿市クリーンセンター整備に係る生活環境影響調査



 

 



 

  

  

  

  

  

  
  
  

  

  

  
  
  

  
  
  
  

  
  
  
  
  

  
  
  
 

 
 
 
 
 
 
 
 



 

  

  
  
  
  
  
  
  
  
  

  
  
  
  
  
 

 
  
  

 
 

  

  

  

  

  

  
  
  
  
  

  
  
  
  
 

 
 



 

  
  
  
  
  

  
  
  
  
  

  

 



 

 

 





 

 

 





 

 

 

 

 





 
 



 



 

 

 
 





 

 





 
 

 

 





 
 

 



 



 



 

 

 

 



 

 

 





 

 

 



 

 

 
 



 

 



 

 



 

 



 

 

 



 







 

 
 

 







 
 

 

 

 

 
 

 

 

 





 

 

 



   





   





 

 
 



 

 
 



 

 



 

 





 

 



 

 









 
 

 



 

 

 

 

 



 
 



 

 

 

 



 

 





 

 



 

 

 





 

 



 

 





 

 







 

 





10

 

 



 

 

 





 

 

 

 



 

 
 



 



 

 

 

 

 

 

 

 









 

 



 



 

 

 





 

 

 



 

 

 

 
 

 

 





 

 

 

 

 



 
 

 

 

 





 

 

 



 

r1

L1in = Lw+10 log10
Q

4 r1
2  +

4
R  

L1in
Lw
Q
r1
R

R = S
1-  

S

Lw = 10 log 10
Lwi

10

n

i=1

 

Lwi

 

L1out = L1in-TL-10 log S Si  

L1out
L1in  
TL
Si

 

L' = L1out+10 log S '+10 log 1/ 2 l2 - L 

L 
L1out
S 
l

L

L = 8-20log(r) 

r



 

 

 

 



 



 







 
 

 

 

 



 

 

 





 

 

 
 

 

 





 

 

 



 
 

 

 

 

 

 





 

VL = VL0 + 20log10 (r0/r)n + (20log10e) (r0 - r)  
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